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alignl {size 16 {"Parametrización:"}}
newline 
left lbrace 

alignl
stack{

x = left ( A v sin {u over 2} + R right ) cos u #
y = left ( A v sin {u over 2} + R right ) sin u # 
z = A v cos {u over 2}

}
; ~~ 
binom 

{0 leslant u leslant 2 %pi }
{­ {1 over 2} leslant v leslant 1 over 2 }

right rbrace
newline newline
alignl {size 16 {"Constantes:"}}
newline 
R: radio del centro de la cinta 
newline
A: ancho de la cinta

Cinta de Möbius

Parametrización:

{x=A v sin
u
2
Rcosu

y=A v sin
u
2
Rsin u

z=A v cos
u
2

;
0u2

−
1
2
v

1
2 }

Constantes:
R :radio del centro de la cinta

A: ancho de la cinta


